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GEOGRAPHY
PAPER-VII
REGIONAL GEOGRAPHY OF INDIA
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The figures in the margin indicate full marks.

SECTION-I / f[@9-3 / 91-1

Answer any one of the following 20x1 =20
fafeiie - 9o et Ter wis

Gl TICT YD IR AEIBN

Divide India into different physiographic divisions. Give an account of the 5+15=20
longitudinal divisions of the Himalayas.

siRecE [ifer g-agfer Kot Rew 391 trd Faa Bew #1) SiweaE ot I
90t 41

IRAes = Wi wrmar fave T4 | feAredsT orqed fammera!
favor fager |

Give an account on the distribution of coal in India. Briefly explain the various 15+5 =20
problems associated with coal mining in India.

SRCS FIEN I6 FIE S0 91 ©Oced T3e Al & T 7o
9

ARTHA Bigell [IROTD! fderor fAGer | ARTHT DIgell FFRIT Fafied =
TAARIES AT woH ARAT T8 |

SECTION-II / [Feto-9 / 911

Answer any fwo of the following 10x2 =20
el @-R 76 @tie Teq wie
F1 gZACT TP IR oREBY

Attempt a classification of natural vegetation in India and describe their 5+5=10
properties.

oIced Fielfie St @ 37 @R Sime @FEeE 6@ T4
IRAHAT WHiad JIURIEwd] TiaHo T4 TN T4 3 [agedl TEs
oI THE |
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4. Briefly describe the salient features of Agriculture in India. Mention its various
problems.
OIR0oA FRIEH 6T @R FE Wew! 30 9 9k FlRicea [fen e
TE @14
ARTH PVh! qi faRares Aerdmud 9o T9sY | 96! i~ TRaEs
Ioold e |
5. Discuss the regional variation in density of population in India.
OIS TGS SNEBFT SIS T A 41
ARTH] STEEITD] el &g [A~deaR Bethel T8l |
6. Give an account of socio-economic conditions of Santhals.
Areoema S AET s [ewe wie)
HATTEwd! AHITG-MAE 3ravena! faaver fager |
SECTION-III / Retai-ot / wFT-111
7. Write short notes on the following:
foafefie Reefm esm g [aad @9
T Biel fewol oegeiy
(a) Duars
3 7
(b) Aforestation
Je7ee
GETRII0T
(c) Black Soil
T e
BIAT AT
(d) Doab
R
(e) Littoral forest.
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6+4 =10
10
10
2x5 =10



